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A= bvik Y= FARY N R %
1cm 0.3937 in 0.33
1m =100 cm { 32808 ft 33 R
=1000 mm 1.0936 yd 0.55 [
49.7097 chain 9.1667 HT
1 km=1000 m { {
0.62137 mile 0.2546 2
254 cm 1 in=1000 mil (3 V) 0.8382 <}
0.3048 m 1 ft=12 in 1.00584 R
0.91440183 m (k) 301752 R
1 yd=3 ft {
0.9143992 m (%) 050292 [
20117 m 1 chain=22 yd 11.064 [
1 mile=80 chain 14.752 Hy
1.6093 km {
=1760 yd 040979
3.0303 cm 1.19303 in 1+
0994194 ft
0.30303 m [ 1 R=10
0.331398 yd
181818 m 1.98839 yd 1 =6 R
0.10909 km 54229 chain 1 =60
392727 km 24403 mile 1 H1=36 HT
LiT-1852 km 1 BR=20 me125 R
154324 gr
1 g =1000 mg [ 0.26667 4L
0.0352740 oz
0.266667
1 kg=1000 g 220462 Ib {
166667 JT
110231 K b >~
1t =1000 kg [ 266.667
0.984206 4% b >
283495 g 1oz(+ > R) 756 40
04535924277 kg (k) 1Ib(E> ) =16 oz { 120958 4
045359245 kg (3£) =7000 gr (7" L— ) 0.75599 T
0907185 t 1KY 241916 11
1.01605 t N 270946
37 g 0132277 oz 14
06 kg 1.32277 1b 1 /=160 2
375 kg 8267333 b 1 H=1000 4
3690773 Kk k>~
375 kg [ 1000

4133667 ¥ b~

1k b~ (sh. t) 3 (A, £)=2000 1b

13+ > (Lt & (B, 1)=2240 Ib

1717 v b (ct)200 mg
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A= bV Y= PRV FE ROE &
1 cm* 0.155000 in® 01089 “F-J5+F
) 10763910 t? 1089 FHR
e { 11959900 yd? { 03025 £F
la =100m? 0024711 A 100833 ik
1ha =100 a 24711 A 1.00833 HF
1 km? 0.386102 mile? 0064836 77 .
645160 cm® 1in’ 0.70258 F-J5+F
00929030 m? 1ft? 10117 FHR
0836127 m? 1yd { 03 T
0252929 ¥
40456 a 1 A(T—% —)=4840 yd? 4.0806
258999 km? 1 mile? 261.16 I
918274 cm? 14233 in? 177
00918274 m? [ ooz 1R
0109825 yd?
330579 m? 39537 yd? 1 B1=36 T/ R
0991736 a 0.24506 chain? 1 A=30 % (¥F)
991736 a 024504 A 1 K=10 i
000991736 km? 0003829 mile? 107=10 &
15424 km? 59550 mile? 1 )
1 cm? 00610237 in® 0035937 3277+
353147 ft* 35937 HR
[ {

1.3080 yd*

0166375 £

11=(Y v FV)=10° cm® 0264178 gal 0554368 71
163871 cm? 1in® 058890 37.J5
00283168 m® 116 10176 375 R
0764555 m® 1 yd*=27 ft* 012720 75
37852291 1() )
45459631 155) 1gal(Fmy) 25201 7t
278265 cm® 1.6981 in* 1FJ5+F

1 PHR

0.0275265 m®

[ 0.98268 ft*
0.0036396 yd*

6.01052 m® 78615 yd* 1 3737=216 “FHR
1.80386 1 0.39682 gal 1 7+=10 A=100 ~J
TEREAL & S| BAL & DI]ER
# GERMBLAL | STHLAL #oHo® it PESRHAL | STHAL #oHo®
R i} bl rad 0.0174533 kgf/mm? Pa 9806650
rad 0000290888 mH,0 Pa 9806.65
e rad 0.00000484814 mmHg Pa 133322
i i3 km/h m/s 02777778 latm Pa 101325
®Ho® (5 ) kgf N 9.80665 IS 73| kgf/mm? N/mm?* | 9.80665
HALOMHH ) OFE | kef/m® N/m?* 9.80665 fl: kS kw-h J 3600000
7o E - X ¥ b kgf-m Nm 9.80665 cal J 418605
M 71| kgt/m? Pa 9.880665 T | kegf-m/s w 9.80665
kgf/cm?® Pa 98066.5 PS w 7355
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